高考英语仿真试题(二)

本试卷分第一卷(选择题)和第二卷(非选择题)两部分。第一卷1至10页，第二卷11至12页。共150分，考试时间120分钟。

第一卷 (三部分，共115分)

注意事项：

1答第一卷前，考生务必将自己的姓名、准考证号、考试科目用铅笔涂写在答题卡上。

2每小题选出答案后，用铅笔把答题卡上对应题目的答案标号涂黑。如需改动，用橡皮擦干净后，再选涂其他答案标号。不能答在试卷上。

3考试结束后，考生将本试卷和答题卡一并交回。

第一部分：听力（共两节，满分30分）

做题时，先将答案划在试卷上。录音内容结束后，你将有两分钟的时间将试卷上的答案转涂到答题卡上。

第一节（共5小题；每小题1.5分，满分7.5分）

听下面5段对话。每段对话后有一个小题，从题中所给的A、B、C三个选项中选出最佳选项，并标在试卷的相应位置。听完每段对话后，你都有10秒钟的时间来回答有关小题和阅读下一小题。每段对话仅读一遍。

1.What are they talking about?

A.Whether to have the right to drive a car in England.

B.How to drive a car.

C.Driving in England.

2.Where is the bank?

A.Next to the bookstone.

B.Behind the bookstore.

C.Far from the bookstore.

3.Where did the conversation take place?

A.In a hotel.

B.In a guest room.

C.On a telephone

4.Whose recorder is the best?

A.Jack’s.

B.The man’s.

C.The one the woman bought yesterday.

5.What does the man like?

A.Ａstormy ocean.

B.Being sad.

C.Calm water.

第二节（共15小题；每小题1．5分，满分22．5分）

听下面5段对话或独白。每段对话或独白后有几个小题，从题中所给的A、B、C三个选项中选出最佳选项，并标在试卷的相应位置。听每段对话或独白前，你将有时间阅读各个小题，每小题5秒钟；听完后，各小题将给出5秒钟的作答时间。每段对话或独白读两遍。

听第6段对话，回答第6～7题。

6.What do you think the woman is?

A.A member of a political club.

B.A camera woman.

C.A waitress

7.What is the woman going to do?

A.Take part in a meeting.

B.Shake hands with people she hates.

C.Have some photos taken.

听第7段对话，回答第8～1０题。

8.Where are the two speakers?

A.In the woman speaker’s  house.

B.In a classroom.

C.In the woman speaker’s office.

9.Why did the man come into the room?

A.Because he worked there himself.

B.Because he wanted to talk to Kate.

C.Because he wanted Jane to type a letter for him.

10.What was Jane doing on the day when the dialogue took place?

A.She was taking a rest.

B.She was preparing for an exam.

C.She was studying a night school.

听第8段对话，回答第11～１２题。

11.What are the people in the house doing?

A.They’re having dinner.

B.They’re having a party.

C.They’re watching TV.

12.Who is Karl Black?

A.He is the man’s daughter’s boy-friend.

B.He is the woman’s daughter’s boy-friend.

C.He is Miss Zhang’s boy-friend.

听第9段对话，回答第13～１６题。

13.What do they do for a living now?

A.They have a shop that sells bread and cakes.

B.They buy cakes and bread and sell them.

C.They make cakes and bread and send them to shops.

14.Which of the following facts does NOT make it easy for the mother to take care of business?

A.She helped the father with the business before.

B.She looked after the children.

C.The speaker’s older brother was helping with the business

15.When did the mother probably start to take care of the business?

A.Recently.              B.Six years ago.          C.Two years ago.

16.Who was George?

A.My younger brother.     B.My elder brother.        C.My father.

听第10段独白，回答第17～２０题。

17.How many people were hurt in the accident?

A.10.                   B.11.                    C.12.

18.Which sentence best describes the accident?

A.The accident was a result of drunken driving.

B.Poor weather conditions led to the accident.

C.A moving truck hit a stopped school bus.

19.About what time did the accident happen?

A.Shortly before 3 p.m.

B.Shortly after 3 p.m.

C.Shortly before 5 p.m.

20.How many traffic accidents have happened in the city this month so far as we know?

A.3.                   B.5.                     C.7.

第二部分：英语知识运用（共两节，满分45分）

第一节：单项填空（共15小题；每小题1分，满分15分）

从A、B、C D四个选项中，选出可以填入空白处的最佳选项，并在答题卡上将该项涂黑。

21.Who is ______starting the bush fire.

A.blame        B.to blame for       C.blamed          D.blame for

22.________ a man stands on a very high mountain, he can only see a small part of the weather.

A.If            B.When            C.Though          D.Even if

23.In warm weather fruit and meat ___________long.

A.don’t keep     B.can’t be kept        C.are not kept     D.are not keeping

24.After I had walked for six hours_____.

A.I had been tired out                  B.I was tired out

C.I’ll be tired out                      D.I would have been tired out

25.________Mr Chen is waiting outside to speak to you.He appears to be quite______ important person.

A./;an           B.A;an               C.The;the        D.The;/

26.—Goodbye!I’m glad______you.

—________,too!

A.to see ;I    B.to have seen; Me     C.to see;Me      D.seeing ;I

27.—Did you enjoy last night’s concert?

—Yes.Though the last piece _______ rather poorly.

A.was playing     B.played             C.playing       D.was played

28.You’re ______ your time trying to persuade him,he’ll never join us.

A.spending        B.wasting            C.losting        D.missing

29.When the accident ______.I_______ quite near.

A.was happened;was standing             B.was happening;stood

C.happened;was standing                 D.happened;stood

30.—What’s that building?

—_______the medical equipment is stored.

A.That’s where                       B.That’s the building which

C.The building that                    D.There’s in which

31.Was it_____it snowed last night that you didn’t come?

A.that             B.because            C.why         D.if

32.—We were talking about the new play ______,remember?

  —Yes,I enjoyed it very much.

A.the other day      B.another day        C.some day     D.other day

33.I ______you the truth but I______ allowed to do so.

A.would tell;wasn’t’                     B.had told;wasn’t

C.would have told;hadn’t been             D.would have told;wasn’t

34.The train he was looking forward to ______ only a minute ago.

A.arrive            B.arriving           C.arrived        D.had arrived

35.—Mr.Smith must know a lot about Chinese history.

 ​—_____.He studied it for years.

A.So he does      B.So does he         C.So he must     D.Yes,he must

第二节:完形填空（共20小题；每小题1.5分，满分30分）
阅读下面的短文，掌握其大意，然后从36～55各题所给的四个选项(A、B、C和D)中选出最佳选项。

Do you know insurance(保险)?Buying insurance is a   36   by which people can protect themselves   37   large losses.Protection against fire is one kind of insurance.Large numbers of people pay   38   sums of money to an insurance company.Although thousands of people have paid for fire insurance,only   39   will lost their homes by fire.The insurance company will pay for these homes out of the sums of money it has   40  .

 The first modern fire insurance company was   41   in London,England,in 1666.A great fire had just   42   most of the city,and people wanted protection against   43   losses.The first company   44   rapidly.Soon other companies were founded in other areas.

Benjamin Franklin helped form the first fire insurance company in America in 1752.He also   45   a new kind of insurance for   46  .The new insurance would offer protection against the loss of crops   47   storms.

In 1795,Benjamin Franklin helped start   48   new insurance company in America.This company,  49   offered life insurance,collected some money   50   from many different men.  51   a man died,his family was given a large sum of money.Today,this company is   52   in business.

Over the years,people have   53   from many new kinds of insurance when they have suffered from   54   accidents as car and plane crashes.  55  ,almost everyone has some kind of insurance.

36.A.way            B.company             C.thought        D.means

37.A.for             B.to                   C.from          D.on

38.A.small           B.large                 C.little          D.few

39.A.few            B.quite a few             C.a few         D.many

40.A.robbed          B.taken                 C.borrowed     D.collected

41.A.discovered       B.found                 C.built         D.formed

42.A.injured          B.destroyed              C.hurt         D.harmed

43.A.longer           B.farther               C.further        D.deeper

44.A.grew            B.went                 C.existed        D.raised

45.A.insisted          B.suggested             C.advised       D.wanted

46.A.workers          B.salesmen             C.farmers       D.people

47.A.by              B.from                 C.for           D.with

48.A.other            B.some                 C.certain        D.another

49.A.that             B.which                 C.who          D.where

50.A.regularly         B.often                 C.usually        D.always

51.A.Although         B.Until                 C.Unless        D.If

52.A.also             B.still                   C.already        D.always

53.A.heard            B.paid                  C.benefited      D.offered

54.A.such             B.many                 C.the           D.more

55.A.Gradually         B.Today                C.Tomorrow     D.Lately

第三部分：阅读理解（共20小题，每小题2分，满分40分）

阅读下面的短文，从每题所给的四个选项(A、B、C、D)中，选出最佳选项。

A

   When you are travelling,whether on business or for pleasure,you often need to stay in a hotel.The kind of hotel you choose probably is decided above all according to how much money you want to spend.There are small hotels with very few services,where the prices are low,or there are large hotels with all the very latest comforts,where you could spend all the money you have in the bank for one very comfortable night.

   There are several different kinds of people who go to hotels.Some want to live,rather than just stay,in a hotel;the hotels which are designed to meet their needs are called residential hotels.However,most people who stay in hotels are either business people or tourists on holiday.

   In most hotels,there are two kinds of rooms:single rooms,for the use of one person,and double rooms,for the use of two people.In addition,in large hotels,there are also suites(套房),which include two or more rooms connected together—perhaps a bed-room and a living room.There are for people who are very rich or very important.

56.One’s choice of a particular hotel is made mainly according to ______.

A.how much one is willing to pay for a night

B.whether one is travelling on business or for pleasure

C.whether the hotel is in the central part of a city

D.how good the services of the hotel are

57.If the president of a certain country comes,he will______.

A.live in a residential hotel with a suite.

B.stya in a single room of a hotel

C.stay in a double room of a hotel

D.stya in a suite of a modern hotel

58.If a person stays in a modern hotel with latest comforts for a night_____.

A.he will become poor

B.he has to pay a lot of money

C.he has to spend all the money he was in the bank

D.he has to pay some money

59.The title of the article is probably_______.

A.Rooms of a Hotel                  B.Cost of a Hotel

C.Hotels                           D.People staying in Hotels

B

Another Way of Thinking“Failure”
 In one way of thinking,failure is part of life.In another way,failure may be a way towards success.The “spider-story”is often told.Robert Bruce,the leader of the Scots in the 13th century,was hiding in a cave from the English.He watched a spider spinning a web. The spider tried to reach across a rough place in the rock.He tried six times to span(跨过)the gap.On the seventh time he made it and went on to spin his web.Bruce is said to have taken heart and to have gone to defeat the English.Edison,the inventor of the light bulb( 灯泡),made hundreds of models that failed before he found the right way to make one.Once he was asked why he kept on trying to make a new type of battery when he had failed so often,he replied,“Failure?I have no failure.Now I know 50 000 ways it won’t work.”
   So what?First,always think about your failure.What caused it?Were conditions right?Were you in top form yourself?What can you change so things will go right next time?

 Second,is the goal you’re trying to reach the right one?Try to do some thinking about what your real goals may be .Think about this question.“If I do succeed in this,where will it get me?”This may help you prevent failure in things you shouldn’t be doing anyway.

The third thing to bear in mind about failure is that it’s a part of life.Learn to live with yourself,even though you maybe have failed.

60.T
his passage deals with_____.

A.failure and successs

B.two sides of failure

C.the“spider-story”
D.the invention of light bulb

61.In the first paragraph the writer tells mainly about_____.

A.the value of failure   B.how people fail  C.famous failures  D.how not to fail

62.Robert Bruce was put in the passage to show that ______.

A.failure must come before success

B.we should face failure directly and overcome difficulties

C.nature will help us if we let it

D.people who fail have plenty of company

63.The thing are writer does NOT tell you to do to deal with failure is to ______.

A.check out your goals to see if they are right for you

B.think about failure as part of your life

C.think about failure to find out what went wrong

D.avoid things that are beyond you

64.Even if we have failed,we should______.

A.not think about it any more

B.learn to accept it

C.learn to live with others in the same house

D.take it easy

C

About Doing Shopping

 I know a woman who likes to do grocery shopping,but I also know a whole lot of people who hate it.People who hate the shopping are likely to like supermarkets,those huge stores where almost everything you need to feed your family or to clean and support your home is able to be got in one place.

The supermarket saves me both money and time.The little corner grocery store is often more conveniently found,more pleasant and open at late hour when the supermarket is closed.But the grocer must ask you for more money than the big market because he can  only buy a small number of cases of one product,while a supermarket can buy cheaper and can sell cheaper to you.

 However,food is very farm from cheap so I always hunt for bargains(讨价政治还价),I check advertisements in newspapers and the market’s “sale” papers,any try to make up a shopping list that includes “sale” items.

65.People like to go shopping in supermarkets because ______.

A.they are quite huge

B.there is everything you need in them

C.they are conveniently found

D.they often closed late

66.The grocer asks you for more money______.

A.though his store opens at late hours.

B.though he buys a small number of products

C.because he can’t buy cheaper

D.because he appears to be pleasant

67.Which of the following statements is untrue?

A.The grocery store is more convenient than the supermarket.

B.The grocery store opens very early.

C.The supermarket can buy a great number of cheaper things at a time.

D.The supermarket can save you both money and time.

68.According to the writer,food is most expensive______.

A.so he always tries to hunt for bargains

B.but he likes to check advertisements in newspapers

C.but he often reads the market’s“sale”papers

D.but he tries to make up a shopping list

D

 Can trees talk?Yes—but not in words.Scientists have reasons to believe that trees do communicate with each other.Not long ago,researchers learned some surprising thing.First a willow tree(柳树)attacked in the woods by caterpillars（毛毛虫）changed the chemistry of its leaves and made them taste so terrible that the caterpillars got tired of the leaves and stopped eating them.The even more astonishing,the tree sent out a special vapour—a signal causing its neighbours to change the chemistry of their own leaves and make them less tasty.

Communication,of course,doesn’t need to be always in words.We can talk to each other by smiling,raising our shoulders and moving our hands.We know that birds and animals use a whole vocabulary of songs,sounds,and movements.Bees dance their signals,flying in certain patterns that tell others bees where to find nectar（花蜜）for honey.So why shouldn’t trees have ways of sending mesages?

69.From the passage we know that caterpillars______.

A.like willow trees                         B.enjoy eating fallen leaves

C.talking to caterpillats                      D.sending a special vapour

70.Caterpillars will stop eating willow tree leaves which_____.

A.have a chemical change and become tasteless    B.have a pleasant taste

C.are being attacked                          D.are communicating

71.According to the passage,bees communicate with each other by______.

A.talking      B.making unusual sounds     C.singing songs   D.flying certain patterns

E

WTO

The World Trade Organization(WTO),founded on January 1,1995,aims to encourage international trade to flow as freely possible,making sure that trade agreements are  respected and that any disputes(争端)can be settled.

In the five years since its founding,the WTO has become well known as one of the world’s most powerful economic(经济)organizations,taking its place alongside the World Bank and International Monetary Fund.

The system of global rules for international trade,however,dates back half a century to 1948 when the General Agreement on Tariffs(关税)and Trade(GATT) was formed after World War Ⅱ.

As time went by,it became clear that the GATT had two major weak points—the limited areas of trade it covered,and the lack of an effective system to settle disputes.

 After seven years of trade talks ending in 1994—the so-called Urugray Round,it finally gave birth to the WTO,complete with an effective system to settle disputes and new rules covering trade in services and intellectual property(知识产权).

 Even after seven years of talks and 22,500 pages of agreements there were still problems,especially the difficult-to-deal-with areas of agriculture and services,which the member nations agreed to revisit in 2000.

 The WTO,with its head office in Geneva,has 135 members with 30 more waiting to join.

72,From the passage we know that the GATT stopped working_____.

A.soon after World War ended

B.just at the end of the year 1994

C.a little more than 50 year after World War Ⅱ
D.seven years before the Uruguay Round talk

87.Compared with the GATT,the WTO_____.

A.can do better to settle disputes in more areas of international trade

B.got its members to sign agreements morle easily

C.has got too many areas of international trade to deal with effectively

D.didn’t pay enough attention to services and intellectual property

74.In the new century the WTO will_____.

A.take the place of the World Bank and International Monetary Fund

B.have new rules covering trace in services and intellectual property

C.make complete new rules in every area of international trade

D.have more members and do much more to settle more problems

75.Another best title for the paragraph is______.

A.WTO—another name for GATT

B.WTO—an international service organization

C.WTO—one of the world’s strongest economic organizations

D.WTO—the world’s most powerful economic organization

高考英语仿真试题(二)

第二卷 (共35分)

注意事项： 

1.第二卷第11至12页，用钢笔或圆珠笔直接答在试卷上。

2.答卷前将密封线内的项目填写清楚。

	题号
	第一节
	第二节
	总分

	分数
	
	
	


第四部分：写作（共两节，满分35分）

	得分
	评卷人

	
	


第一节：短文改错（共10小题；每小题1分，满分10分）

此题要求改正所给短文中的错误。对标有题号的每一行作出判断：如无错误，在该行右

边横线上划一个勾（√）；如有错误（每行只有一个错误），则按下列情况改正：

该行多一个词：把多余的词用斜线（＼）划掉，在该行右边横线上写出该词，并也用斜线划掉。
该行缺一个词：在缺词处加一个漏字符号（∧），在该行右边横线上写出该加的词。

该行错一个词：在错的词下划一横线，在该行右边横线上写出改正后的词。

注意：原行没有错的不要改。

Dear Peter,

Thanks very much on inviting me to your birthday                     76.________

party on Sunday.I’d like very much come but                             77.________

I had an examination on Monday morning.It is                            78.________

a very important exam but I can’t afford to                              79.________

fail it.I’ll spend all the whole weekend reading                           80.________

and prepare for it.So I’m really sorry that                               81.________

I won’t be able to come in this time.Hope you                            82.________

can understand.I’ll take this chance to wish                              83.________

you wonderful time on your birthday.Happy                             84.________

birthday,Peter,and many happy return of the day!                         85.________

Yours,

Li Ming

	得分
	评卷人

	
	


第二节：书面表达（满分25分）

请根据下面几幅画用英语写一篇小故事。故事须包括所有图画内容，可以适当增加细节，使故事连贯。全篇词数：120左右。
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